N ® g —
DIATCONE ROMAF4LRHZRAETE
Longrange ROMA F4 LR Frame Assemble Diagram

EAROMARFIR EREEEILIT, ROMA F4 LRIEANHNZNE46g, 4inchiZI5{BE, FEAC18650 84, K WTRHKIA3S D H EER T
GPSHER, KAMANZEES VT ABEART T8 TR RIS TROMARFIMIGoprorl Esz 28 B AR EF (L, 18N T @A AR AT e it,

As the ROMA series' first lightweight design, the ROMA F4 LR long-endurance frame weighs only 46g. It’ s a light and portable 4-inch design,
best flown with a 18650 battery pack to get up to of 35 minutes flight-time. Equip ROMA F4 LR with a GPS module, and long-distance flight is no
longer exclusively for large-sized aircrafts. The F4 LR frame is compatible with all injection molded parts in the ROMA series, including the adjust-
able GoPro mount.

= an i

Product Specifications

HZRKE B R ST AEE 176mm MZR%EE 468 IHREE:1.5mm

FIRERE:1.5mm FAREE:1.5mm MEEE:3mm METEE:6.5mm

SFAFLEE:9/12mm (M2) FEIRF:©4.5mm &R 20mm TR ALEM 4inch

BARKIEEE : 20mm HETFEBIM35~4S RN 13-14R 5B T FLEE:20%20(M2) /25.5*25.5(M2)
Frame Shape: Hybrid Motor to Motor: 176mm Frame Net Weight: 46g Top Plate Thickness: 1.5mm
Medium Plate Thickness: 1.5 mm Bottom Plate Thickness: 1.5mm Arm Thickness:3mm Am Width: 6.5mm

Motor Hole Distance: 9/12mm (M2) Bore Diameter of Snap Ring: @4.5mm Max Stack Height: 20mm Supported Prop Size: 4 inch

Camera Spacing:20mm Recommended Lipo: 35-4S Recommended Motor Size: 13-14 Series motor

FC Stack Mount: 20*20mm(M2)/25.5*25.5mm(M2)

EofFi5

Parts list

A4
d X1 X1

Tt AR HiR BINE ENE LIES =S
Top plate Bottom plate Medium plate FrontArm Back Arm Camera aluminum bracket
B2 B3 Cl C2 Cc3 C4

x5 X2 X6 X8 X6 X6
M2x19mm 384 M2x20mm $8H M2 x4mm R FRL M2 x6mmA7N iR L M2 x11mm R7NRRL M2x18mm +F iRz
M2x20mm Alum standoff M2x20mm Alum standoff M2 x4mm hex screw M2 x6mm hex screw M2 x11mm hex screw M2x18mm cross screw
C5 D3 D4 D5

X6 ASF X1 ) x1 X2
M2.5 xTmmA7<FigL TBS/GPS $TEN4 2. AGRERFEFTEN e Relbaik Gopro B A 2 AGKRERIP

M2.5X7mm hex screw TBS/GPS 3D-printed part 2.4G Antenna 3D Printed Mount Lipo anti-slip pad Gopro adjustable mount 2.4G antenna protector



RRPE D3
Assembly Guide

MAMBA 5G8 Antenna
2.4Gfi§ﬁ?}f‘.7 T (Need to buy separately F531%EM)

2.4G antenna protector

ATRAR g
BATE "\.e,\_ s
Vi
Press down hard

along the arrow

TBS CROSSFIRE
B IMMORTAL T V2 ANTENNA
@',,f’ (Need to buy separately 5 %)

EFAE R, @I 1A RIDIATONEE WIRTE
For more information, please refer to the Diatone official website

N ®
DIATONE
We provide outstanding service since 2012
Manufacturer : Diatone Innovation Designed by JAHO

Tel : (+86) 0769—82100057 Web : www.diatone.us
Address : Baijiayi Technology Park A-3, Yantian , Fenggang , Dongguan , Guangdong , china



